1) Expand[ (x42 - r42y+2)42 (242 + y*2/r*4)]
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inizi= Coefficient[%, {x44y*2, x42y+4}]

1 2 2 4
ouzie {—-21?, - —+ 1t}
rt r?

3w ParametricPlot[%2 /15, {r, .5, 2}]
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The boundary of the section of P_{2,6}




2 | Banffpix2-22-10.nb

wisy. Plot[{x42, Sqgrt([x]}, {x, 0, 1}, AspectRatio » 1]
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The two parabolas on the boundary of the section of Q_{2,6}

fep- Phi[r_] :=
(1-x)*2(2/3) (1+xr)*2(1/3) (1+2r) / ((1+5r+10xr*2)2(2/3) (1-5r+10xr+22)+(1/3))

7} ParametricPlot[{Phi[r], Phi[-r]}, {r, -1/2, 1/ 2}]
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The funny section of K_{2,6}; there are line segments along the axes from the origin
to (a,0) and (0,a) with a*3 = 1/18. The point (1,1) has a tangent, but infinite curvature.




